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MOESBTOTITEANT VAL LITT—F 5 :

main = print (1 / 2)

I —DEFIFDLEY :

$ ./trun testcases/defaultdouble.hs
# 1. tcompile
source file: testcases/defaultdouble.hs

dst dir: /defaultdouble

doCompile ... warning: kiexpr’ :AppTy (Tycon (Name {origName = "Ratio", namePos = (265,17), isConNam
warning: kiexpr’ :AppTy (Tycon (Name {origName = "Ratio", namePos = (265,17), isConName = Truel})) (T
done.

implicitPrelude ... done.

doCompile ... warning: kiexpr’ :AppTy (Tycon (Name {origName = "Ratio", namePos = (265,17), isConNam

warning: kiexpr’ :AppTy (Tycon (Name {origName = "Ratio", namePos = (265,17), isConName = Truel})) (T
done.

# 2. jout/compile

#!/bin/bash -v

target=%$1

d=‘dirname $1°¢

g=".n

if [ -d /c ]; then

=n.n
S=73

fi



javac -J-Duser.language=en -cp "../../brt/src$s$d" $target
defaultdouble/Main.java:10: error: cannot find symbol
Expr t4 = (Expr) new AtomExpr(new Dict(new Dict_36_Prelude_46_Integer_64_Prelude_46_Fractional
symbol: class Dict_36_Prelude_46_Integer_64_Prelude_46_Fractional
location: class Main

1 error

ZhiE, BURTIHBIMRESRICE WV TIE Num 75 Double AD defaulting (ZHE&E L TWBDIZ/ZWL T, #
&0 DictPass THIGEL TWARWI EBFEF L Hbhd,
(CHUREREIIZ TSV 21 L) OTT—TIFRVWTT A, java AV /SAIVOBEBTTI—LTW»5)

HEEO S

2020-11-29 (Sun)

V& 79, DictPass WARMIETH S M Double AD defaulting 2 LA WE S, BREBRDOHEEEL T
B

--- a/compiler/src/Typing.hs
+++ b/compiler/src/Typing.hs
@@ -157,7 +157,7 @@ modify ce@ClassEnv{ceMap = m} i ¢ = ce{ceMap = insert i c m}

initialEnv :: ClassEnv

initialEnv = ClassEnv { ceMap = empty
- , defaults = [tInteger, tDoublel}
+ , defaults = [tInteger]}

type EnvTransformer = ClassEnv -> Maybe ClassEnv

ZNT, defaultdouble.hs IZHMETLT I —F5LDIZ8>7

bunnyc: cannot resolve ambiguity: [(Tyvar "v8093" Star, [IsIn "Prelude.Fractional" (TVar (Tyvar "v809
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$ runhaskell t117.hs

0.5

unno@unno-FMVD70GN7G ~/work/bissues/117

$ ~/prj/bunny/compiler/bin/bunny testrun t117.hs

/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/t117 --xno-implicit-prelude /home/unno/prj/bunny/
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/t117 --xlibrary-path /home/unno/prj/bunny/compile
bunnyc: cannot resolve ambiguity: [(Tyvar "v8777" Star, [IsIn "Prelude.Fractional" (TVar (Tyvar "v877
testrun: failed to compile t117.hs

unno@unno-FMVD70GN7G ~/work/bissues/117

$ cat t117.hs

main = print (1 /2)



